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EAAnvika@ MaOnparika-Greek Math

MewpeTpia

Dear scholars,
This week we are learning:

> how to convert within a single system of
length measurement using the units:
Kilometers, meters, decimeters,
centimeters and millimeters.

Dear students,
Please follow this scedule:

AcuTtépa 2/26 oeAida 1

TTéumTn 2/29 ochida 2
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AEZIAOTIO seh 1

uétpo-p.=meter-m  Oekato-6ek.=decimeter-dm  y\opetpo=kilometer
£KOTOOTO-EK.=centimeter-cm XA km

XAlooto-XtA.=millimeter-mm

[ METaTPonES ovAadwy LETPNONS UNKous ]

1 pétpo = 10 dékarta= 100 ekarootd = 1.000 xiAiooTd

1 x1MopeTpo=1.000 péTpa

x 10 x 10 x 10

N T

: 10 : 10 : 10

Napadeiyjrata hetatponwy Jrovadwy METpnons:

a. OéAw va peTatpéyw 3 pETpa ot dékata: 3 |, = OEK.
Aéw 3 x 10 = 30. Apa 3pu. = 30 d¢ek.

p. OéAw va peTatpéYyw 3 PETpa Ot ekarooTda: 3 Y. = EK.

Aéw 3 x 10 =30 ka1 30 x 10 = 300 (3 x 100 =300). Apa 3u. = 300 ek.

Y. OéAw va petatpéyw 300 ekaroord oe dékarta: 300 ek. = oek. Aéw
300 : 10 = 30. Apa 300 ek.= 30 d¢k.

0. OéAw va petatpéyw 500 xiAiooTa oe ekatoora: 500 xiIA.= ek. Aéw
500:10=50, Apa 500 xiIA.= 50 ek.

£.0éAw va peTatpéYw 5 xIAiopeTpa o€ HETPA: B XAW.= TR
Aéw 5x1.000=5.000, Apa 5xiA.=5.000 .




1. ZupmAnpwvw TovV mApaAKATW wivakda.
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2. ZugmAnpwvw TIC 1I00TNTEC.
CRTRE EK. 500ek.= 15ek.=___ XIA.
2= O¢K. 60 xIA.= ek, 800ek. = XIA.
5u. = XIA. 25 ek.=___ XIA. 800ek.=__ .
300ek.= ______H. 5000 xiA.= ______q. 2000 xAp.= .
4.000 xIA. = ek. B00ek. = . 22000 4. = XM

3. Abvw TOo mapakatw mpoPAnua:

To mAdTo¢ Tou emipaTikoV mAoiou "Nngoc MUkovocg" sivai 21 pétpa. TTéoo civar To

HAKOC Tou oc 0£KATA, 0 €KATOOTA KAl g€ XIAIOOTd;

MéTpa:
AékaTta:
EkartooTad:

XiAlooTd:
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